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94+1) 3
=2(x +x) —9xx, =2-——— L ==
( 1 2) 172 4/% 2

M+l _ 7 ﬁ$f§k22,§k< O )i
4k 2 5

JITA, AP HA, AT (2xl—x2)(xl—2x2)=—%ﬁiﬁ.

Hp

(2)..ﬂ+&_2: ‘Xl2 +'X22 _2: ('xl +X2)2 _2.X'1X2 _2: ('xl +X2)2 _4
AHH XX XX R
_ M, _ M4 4
£+1 £+1 £+1
" A<0
B o S K SRR Y - 2, - 3F1-S.
X 4
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(3) i—,lk:'zﬁrj‘y xl+x2=1, @ %X2:%®

®2+@, ’fﬂ‘]ﬁ +2 87 Eﬂl+%=6,.‘.ﬂ}—6l+1=0

A4

L A=3+242

8. y=—(x+1)°+4

SZEREE GO R, W RRE = —1, T AR AR D (—1,4)
()M <20,y =3, Mr=-2;

(Q)Mx <20, y,, =4, hfr=—1

3)H-2<a<30, . =4, r=-1, ,, =-12, Il xr=3;
(40 < x <3,y =30k r=1,,, =-12, kM r=3.

9.()KIZ _IRREL A y = axr’ + br+ c(a#0).

-2=a+b+c
Hf3 -3 =¢
—-6=a-b+c

i fGa=-1,b=2,c=-3
SR IRy = -2 + 203,
Q)% KBEHON = a(e—3) +5(a> 0), T G (L1, W1 1 = dar+ 5 a =2

2
- R RN y=%(x—3)2 +5.

QYR Z KR ECh v = a(x—1+N2)(r=1=~/2), TAEVHIAE T 15.(0,-2),
W) —a=-2,f#Fa=2 - Fisk ZIREEH y = 2(x—1+2)(x—1-42).

10. % .
25 a+b—c
11. (1 ;(2
()a+b+c() 2

12. -;ﬁ;@;i,_; BDzﬁcm
AC DC 4 9

13.

W CF I ABEADT-F, UQ’:? Y LAFC = L FAE = L FACIRAC= CF - j’; :j’;—?
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0, 410
13 13

4 VECM 1L ADTM, AB=13cm, CM = 133cm

15. AB=8cm
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